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logarithmic Ua-data
Ua = ( Lo • Mo )0,5
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logarithmic Na-data
Na = ( Mo • So )0,5

log Na = ( logMo+ logSo)/2
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log [LoMaSa]
 Retinal sensitivity
 adapted to cone
 ratio L:M:S=16:8:1

Sa MaLo

logLa= logLo + 0.00
logMa= logMo − 0.3
logSa= logSo − 1.2
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 Cone sensitivity
 normalized to one
 

So MoLo

uλ = (λ − 555) / 50
logLo = −0,35[uλ−u570]

2

logMo = −0,35[uλ−u545]
2

logSo = −0,35[uλ−u445]
2

400 500 600 700

494c,E

400

561c,E−2

−1

  0

445 545 570

 
 SI680−7 

λd/nm λc /nm

log [LoMoSoUoNoWa]
 Calculated data
 Uo,Nonormalized to one

logWa = 0,5 [logUo+logNo]
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logarithmic Ua-data
Ua = ( Po • Do )0,5

log Ua = ( logPo+ logDo)/2
log [ Ua, Po, Do ]

uλ = (λ − 555) / 50
logPo = −0,35[uλ−u570]
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Adaptation: λPD=557
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logarithmic Ua-saturation
Ua = ( Po • Do )0,5

log Ua = ( logPo+ logDo)/2
log [Po/Ua, Do/Ua ]
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logarithmic Na-data
Na = ( Do • To )0,5

log Na = ( logDo+ logTo)/2
log [ Na, Do, To ]

uλ = (λ − 555) / 50
logDo = −0,35[uλ−u545]

2
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Adaptation: λDT=495

    −3,1 −1,1   0,9   2,9   0,0

555400 500 600 700
−2

−1

  0

Threshold
Ta=0.0

 
 SI681−4

445 495 545

λ /nm

u

logarithmic Na-saturation
Na = ( Do • To )0,5

log Na = ( logDo+ logTo)/2
log [Do/Na, To/Na ]
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log [PoDaTa]
 Retinal sensitivity
 adapted to cone
 ratio P:D:T=16:8:1

Ta DaPo

logPa= logPo + 0.00
logDa= logDo − 0.3
logTa= logTo − 1.2
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log [PoDoTo = LoMoSo]
 Cone sensitivity
 normalized to one
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log [PoDoToUoNoWa]
 Calculated data
 Uo,Nonormalized to one

logWa = 0,5 [logUo+logNo]

NoWaUo

uλ = (λ − 550) / 50
logUo = −0,35[uλ−u550]
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2

logWa= logWo−logUo(525)
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 Cone exitation eW
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grafico TUB-SI68; Hue and cone sensitivity
change of hue and LMS cone sensitivity and exitation
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